Homework 5

SNU 4910.210 Fall 2013

Kwangkeun Yi

due: 10/26(Sat) 24:00
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black : form

white : form

glue : form x form x form * form — form
rotate : form — form

neighbor : location * form — int

pprint : form — void
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(define B black)
(define W white)
(define Basic (glue B B B W))
(define (turn pattern i)
(if (<= 1 0) pattern else (turn (rotate pattern) (- i 1))))

(define Compound (glue Basic (turn Basic 1) (turn Basic 2) (turn Basic 3)))
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glue-array-from-tree :
glue-array-from-array :
rotate-array :
neighbor-array :
pprint-array :

is-array?:
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form x form x form * form — form
form x form x form x form — form
form — form

location * form — int

form — void

form — bool
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glue-tree-from-tree :
glue-tree-from-array :
rotate-tree:
neighbor-tree :
pprint-tree:

is-tree?:
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array-to-tree :

tree-to-array :
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form x form x form x form — form
form x form x form x form — form
form — form

location * form — int

form — void

form — bool

form — form

form — form
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equal : form x form — bool

size : form — int
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beautiful : form — bool
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Exercise 3 “F % 7] A (Turing machine)”
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init-tape : symbol list — tape
read-tape : tape — symbol
write-tape : tape x symbol — tape
move-tape-left : tape — tape
move-tape-right : tape — tape
print-tape : tape — void
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empty-ruletable : ruletable
add-rule : rule * ruletable — ruletable
make-rule : state * symbol x symbol x move * state — rule

match-rule : state x symbol x ruletable — symbol X move X state
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make-tm : symbol list x state x ruletable — tm
step—tm: tm — tm
run-tm: tm — tm

print-tm: tm * int — void
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catchYou : graph x int — (store X real)list
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(define model ’((A B 1.0) (B C 0.3) (BD 0.7) (C A 0.6) (CD 0.4) (D
D 1.0)))
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